



$$(I) \quad v_n = d_n + \beta_n + \gamma_n = v_{n-1} + (d_{n-2} + \beta_{n-2}) + v_{n-2} \quad \text{sk}$$

$$\Leftrightarrow \begin{cases} d_n = v_{n-1} \\ \beta_n = d_{n-2} + \beta_{n-2} \\ \gamma_n = v_{n-2} \end{cases}$$

$$= v_{n-1} + v_{n-2} + v_{n-3} + \beta_{n-2}$$

$$(II) \quad v_{n-2} = d_{n-2} + \beta_{n-2} + \gamma_{n-2} = v_{n-3} + \beta_{n-2} + v_{n-4} \quad \text{sk}$$

$$\text{sk} \quad (I) - (II) \quad \text{sk}$$

$$v_n - v_{n-2} = (v_{n-1} + v_{n-2} + v_{n-3}) - (v_{n-3} + v_{n-4})$$

$$n \geq 4 \quad \text{sk} \quad v_n = v_{n-1} + 2v_{n-2} - v_{n-4} \quad \text{sk}$$

$$\phi \neq I \subset A \quad \text{sk} \quad |\Gamma_6(I)| \geq |I| - \frac{n}{3} \quad \text{sk}$$

$$\text{sk} \quad \text{sk} \quad x \in I \quad \text{sk} \quad |I| \leq \frac{2n}{3} \quad \text{sk} \quad \frac{|\Gamma_6(I)|}{|I|}$$

$$\text{sk} \quad \deg_{\mathbb{G}}(x) \geq \frac{n}{3}$$

$$|\Gamma_6(I)| \geq \{ \deg_{\mathbb{G}}(x) \geq \frac{n}{3} \} \geq |I| - \frac{n}{3}$$

$$y \in B \quad \text{sk} \quad |\Gamma_6(y)| \geq \frac{n}{3} - 1 \quad \text{sk} \quad |I| > \frac{2n}{3} \quad \text{sk}$$

$$|\Gamma_6(I)| = n \quad \text{sk} \quad \Gamma_6(y) \cap I \neq \emptyset \quad \text{sk}$$

$$\text{sk} \quad \text{sk} \quad G \quad \text{sk} \quad \text{sk} \quad \text{sk}$$

$$n - \frac{n}{3} = \frac{2n}{3} \leq \text{sk}$$

$$[N] = A_1 \cup A_2 \quad \text{for } N \geq g(k) \quad \text{for all } g(k) = R(k+1, k+1) - 1 \quad \text{for } 3$$

"for  $k_{N+1}$  and for  $g(k) - 2$  and for  $g(k)$

$$\phi(x, y) = \begin{cases} 1 & |y-x| \in A_1 \\ 2 & |y-x| \in A_2 \end{cases}$$

Now  $N+1 \geq R(k+1, k+1) - 1$  and for  $g(k) - 2$  and for  $g(k)$

for  $k_{N+1}$  and for  $g(k) - 2$  and for  $g(k)$

$$1 \leq \alpha \leq k+1 \quad \text{for } 1 \leq z_1 < \dots < z_{k+1} \leq N+1 \quad \text{for } g(k) - 2 \quad \text{for } g(k)$$

$$y_k = z_{k+1} - z_k \quad \text{for } 1 \leq k \leq k+1 \quad \text{for } g(k) - 2 \quad \text{for } g(k)$$

$$y_1 + \dots + y_k = z_{k+1} - z_1 \in A_i \quad \text{for } 1 \leq k \leq k+1 \quad \text{for } g(k) - 2 \quad \text{for } g(k)$$

$$G(n, m) = m^n - F(n, m) \quad \text{for } 1 \leq n \leq m \quad \text{for } 4$$

$$f: [n] \rightarrow [m] \quad \text{for } 1 \leq i \leq m \quad \text{for } 1 \leq i \leq m$$

$$B_{ji} = (m-1)^{n-1} \quad \text{for } 1 \leq j \leq n, 1 \leq i \leq m \quad \text{for } 1 \leq i \leq m$$

$$f: [n] \rightarrow [m] \quad \text{for } 1 \leq i \leq m \quad \text{for } 1 \leq i \leq m$$

$$m^n - F(n, m) = G(n, m) \leq \sum_{i=1}^m \sum_{j=1}^n |B_{ji}| \quad \text{for } 1 \leq i \leq m$$

$$\leq \sum_{i=1}^m \sum_{j=1}^n |B_{ji}| = m \cdot n \cdot (m-1)^{n-1} \quad \text{for } 1 \leq i \leq m$$

$$F(n, m) \geq m^n - m \cdot n \cdot (m-1)^{n-1} \quad \text{for } 1 \leq i \leq m$$

(10)  $1 \leq i \leq m - 5$  .2.4

5 15/16

5 15/16

120

120

1251

10

10

2.

512

512

512

512